Name: Date:
Unit 11, Day 1 Warm-up Period:

1. Identify the type of slope of the following graphs. 2. Find the domain and range of the graph,

Domain: Range;
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384. Choose which equation best represents the following graphs.




Name: Date:
Unit 11_1, Day 1 Notes Period:
' ' 4 Learning Targets i
i ¥ | can tell if a scatterplot represents a line or a quadratic i
' » | can match scatterplots to equations of lines i
l‘\ » | can predict a value from a scatterplot j
Vocabulary {or properties or formulas)
Scatterplot Predict Represents

' 'What you can-telt frdm'.the graphbelow? i oo e
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& negative none

Circle one: positive hegatiye none

Circle one:ip

Circle one: positive negative/none

if x=9, could you predict y?

if x=9 could you 6edict y?

1f x=9 could you

p{edict y?
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“Is'the scatterplot LINEAR or QUADRATIC? - 0 T
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7T How canlmake predictions from a seatterplot? . &

Beach Visitors

Bumber of Missed Classes

)
§
K2
S
0 W, % ] 1
80 84 88 92
Average Daily Temperature (°F)
007 o
©ogn] o'’
g e 43
[ 68 A “’ * .
& 40 4 r 4
* .
[RE] QD “1 . +
U ; H B ¥ t
0 10 2 3

Scatter Plot of Verbal vs. Math
Scores
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What is the correlation of this data?
VOSH re
If the temperature is 98°, what is the best prediction for visitors?

G715

if the number of visitors was 400, what is the best prediction for

temperature? 6 —7

What is the correlation of this data?

MS) ot /e

If a student misses 15 classes, what is the best prediction for

their exam scare?
i s
‘ %

If a student’s exam score was 99, what is the best prediction for
the number of missed classes?

1

What is the correlation of this data?
N 64 hong

If the student’s math score is 600, what is the Best prediction for

their verbal score?

If the student’s verbal score is 700, what is the best prediction

for their math score?
o



WEIGHT

Name: Date:

nit 11, Day 1 Activity Period:
ST T T T L SRS T T T T T T T oo T T T T oo o emmenmnmmmmmmmmmm RN
: Learning Targets :
: ¥ | cantellif a scatterplot represents a line or a quadratic :
; » | can match scatterplots 1o equations of lines :
1\\ » | can predict a value from a scatterplot ,rl

You will need to earn at least 20 points to successfully complete this activity. You must pick at least one
question from each category. Write your answers on a separate sheet of paper.

Category A {1 point each): Determine if the relation is linear or quadratic.

SCATYER PLOT
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Category B (2 points each): Determine which fine best matches the graph.

{A. y#£15x+.5

B. y=-1.5x+.5

C. y=-15x-.5

D. y=1.5x-.5
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Category C {3 points each): Find the best prediction using the data and the given value.

What is the best prediction for the weight at 72
6 SCATTER PLOT days?
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Scatterplot of MPG vs waight

If a car weighs 1500 pounds, what is the best
prediction for miles per gallon?
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SOL 8.13 — Scatter Plots [

Name Date Block

Use the scatter plots below to answer the following questions.

Time Spent Watching TV compared to Time Spent Studying
Class A

20 40 60 80 100 120 140

Time Spent Studying (in minutes)

Time Spent Watching TV (in
" minutes)

Class B

120
100
80
60
40
20

0 20 40 60 80 100 120 140
Time Spent Studying (in minutes)

Time Spent Watching TV
{in minutes)

1) Do you notice a correlation in the data for class A? \;i < If so, what kind of correlation?
NI W€

2} In both glasses, there is a student who spent 120 minytes study;ng Did the student in Class A or in
Class B spend more time watching TV?

3) Make a prediction. If a student in Class B spent 5 i%rces studying, about how much time did
he/she probably spend watching TV?

4) Make a prediction. If a student in class A spent 80 mmuEﬁwatchmg TV, about how much time
did he/she probably spend-studying?

5) Make an inference. If a student who watches a lot of TV likely to get higher grades or lower
grades than a student who watches very little TV? Explain your answer.
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Name: Date:
Unit 11, Day 1 Exit Ticket Period:
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2. Which equation best matches the following scatterplot?
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3. Enrique owns an ice cream store and looks at the sales on a day where it was
90°. What is the best prediction for his sales? '
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